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Part one - Puzzle 1
Solution:
“Not the one who used to work here.”

This refers to Isaac Griffth, and it means he is innocent. 



Part one - Puzzle 2
Solution:
“Wears a tie”

This refers to Greorg McLeod, and means he is innocent.



Part one - Puzzle 3
Solution:
“Join the movement, help our animal friends.”

This removes Anya Vaughn as a suspect. 



Part one - Final 
Solution:
Maxim Ward

Anya Vaughn

Isaac Griffith

Maxim Ward

Gregory Mcleod

Innocent Guilty



Part Two - Puzzle 1
Solution:

How many coconuts are there?
5
How many mangos are there?
13
How many apples are there?
30

apples - mangos - coconuts = ?
30 - 13 - 5 = 12
Which means Aiden Shannon is innocent.



Part Two - Puzzle 2
Solution:
“It’s not Xander.”

1
Elk

2
Coyote 

3
Razorback

4
Cougar

5
Bisom

6
Red Fox

7
Ringtail

8
Bobcat

9
Moose

10
Grizzly
Bear

11
Black Bear

12
Gray Wolf



Part Two - Puzzle 3
Solution:
“I don’t know who did it, but I do know that Golden did not do it.” 

This is refering to Billy Golden.



Part Two - Final
Solution:
Lilly Henry

Xander Benson

Lilly Henry

Billy Golden

Aiden Shannon

Innocent Guilty


